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INSTRUCTIONS

This question paper should be opened only after receiving the instruction from the examination hall invigilator.

This question paper contains 30 questions in Part A (General Knowledge) and 140 questions in Part B (Psychology, Law and
Police subjects). '

Answer all the questions.
Each correct answer has half mark,
Write the Enrolment No. and S. No. of the OMR answer sheet at the appropriate place in the front page.of the question paper.

The type of question booklet series and the correct answers to the questions (A, B, C or D) should be shaded in the relevant circles
using blue or black ball point pen. The answer sheet without shading the type of question booklet series will not be evaluated.

For each question only one answer is to be chosen and shaded.
For wrong, multiple and improper shading in answer sheets, no marks will be given for that answer.

If there is any printing error, or error in Page No. in the question paper, the same should be brought to the notice of the invigilator
immediately and obtained a new question paper before the commencement of written examination.

All the questions are bilingual except language questions (English & Tamil).
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PART - A : General Knowledge

1. Where the Fascism Raised in the European country ?

(A) Denmark (B) Germany (C) France (D) Italy
b @Crniniw pr g6 Lnfs Qenerans Camerdlug ?
(A) Glainomiss  (B) Glegiioaf) (©) Ayneirery (D) @ssmed
2. Match the following :

1) Holkar a) Baroda

2) Gaikwad b) Pune gﬁf}

3) Shinde c¢) Indore oEE

4) Peshwa d) Gwalior
(A) 1-c,2-b,3-d, 4-a ' (B) 1-c, 2-a, 3-b, 4-d
(C) 1-c,2-b, 3-a, 4-d (D) 1-¢, 2-a, 3-d, 4-b
Clunmpsas :

1) Gammevasmi a) uGmrm
2) Gsuideum b)) yGewr

3) G0 ©) @i
4) Guepeum d) @eumedluni
(A) 1-c,2-b,3-d, 4-a (B) 1-c, 2-a, 3-b, 4-d
(©) 1-c,2-b, 3-a,4-d (D) 1-c, 2-a, 3-d, 4-b
3. Who built the Buland Darwaza at Fatehpur Sikri ?
(A) Shah Jahan (B) Akbar (C) Jahangir (D) Aurangazeb
uGs LIRS Muled Lol Sieunsneneud s g want wmr ?
(A) aumrgsmeir (B) oysLnr (©) awnm&i = (D) oyoyomisf

4. Coimbatore district is surrounded by
(A) The Nilgiris, Theni, Erode and Dindigul
(B) The Nilgiris, Tiruppur, Dindigul and Theni
(C) The Nilgiris, Karur, Theni and Tiruppur
(D) The Nilgiris, Erode, Tiruppur and Kerala
GasmuLbLyS & reul” L _tb Q0 GLPLILIL (HeTars).
(A) Bov&l), Czadfl, #Con® wHmId HesaBSHev
(B) sv&@f, SlpLiLyi, Hem®ssed wppib Csef mym
(C) sov&lfl, sepi, Coafl pmib Loyt %ﬁ%‘i
(D) &, #Gon®, Lyt wpmid Csgerm

5. One among the given districts has border with Karnataka State.

(A) Erode (B) Coimbatore (C) Thiruvallur (D) Thirunelveli
CsTBHSS LI BHeTar wreul L miseiey REHD] SBAL_ST LOTHIVSSIL_ 6T 6TV LIS
Claness(Berong)

(A) #Ggr®

B) Csmubrggr (C) meusrosi (D) BwelmeGared



6. The discovered Sangam Age town in Keezhadi excavation relates to which Civilization ?
(B) Mayan Civilization

T

CIL. ‘Kaaval Uthavi’ app also provides service like registering mobile based complaints,
vehicle, verification FIR and CSR status.

(A) c,a, b, d

(A) Egyptian Civilization
(C) Mesopotamian Civilization

Bip1y Sispmiailer seTBLIgSSLILIL L FEISSTC BSILD 6168 HsF%EsSCSM(H)

@LILCEIESE Falq Wil 7
(A) a®aBwiir prsfsd

g

(D) Indus Valley Civilization

(B) womwesr prsfaid

(C) @uwewr1BunGL_mAwesr predsy (D) g swblesed BrsMsLd

I. The objective of ‘Kaaval Uthavi’ app is to help citizens to seek Police Assistance during

any emergency.

Which one is correct ?
(A) Ionly (B) II only

FMCUGIEOD 2 S USDEHTS

II. ‘sresed 2569 Qerwelwnars esGUE) FMiks LSTISEEN, ITSET &ILITBISGCT
FAUTALIL, (PSS S6MD yPlsans, F.61av. 9T Hlevew Curespapenp

Sies
N
(C) Iand I1

IBugHETE CFenauseT ULpmISFHDSE-

Guop Glencirean@ev 618 Fiil ?
(A) 1 o0 @b
(©) 1 1oppup 11

. Match the following :

i) Satya Nadela
ii) Sundar Pichai
iii) Indira Nooyi
iv) Shiv Nadar
(A) a,b,c,d (B) c,d,b,a
Spasa_auperp GILITBS515
i) #88w pGL_cur
il) &bsi LFenas
iii) @@ g
V) aflel ma_mi

(A) a,b,c,d B) c,d,b,a

. Match the following :

1) Nepal

ii) Bhutan
iii) Bangladesh
iv) Pakistan

(A) c,a,b,d (B) a,c,b,d

esraumeussioupenm CLITBSS5I%.

i) Grumerd

i) Ly meir
iii) LsiserTGs ey
V) un&levgmesr

(B) a,¢,b,d

(B) II o @b

(D) GopOleneiren eigyayLb @evency

a) HCL

b) Pepsi Co.
¢) Microsoft
d) Google :
(C) b,e,d,a D) d,a,c,b
a) HCL
b) Qus& GpLob
¢) enodCuremii
d) em@er

(C) br C, ds a (D) d, a, C, b

a) Thimphu
b) Dhaka El:;iEl
¢) Kathmandu %@
d) Islamabad
(C) a,b,c,d

a) §by

b) Lngasn

¢) snGLomet(h

d) @evevnoming

(D) a,b,d, c

(D) None of the above
I ‘smucd 2567 Qewelluiear Crrésb CLING &GEEHE YaFT STVSEIW

(C) a,b,c,d (D) a,b,d,c :



10.

11.

12,

13.

14.
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What is the number of all India Women Helpline ?

(A) 1098 (B) 1030 (C) 181 (D) 100
ITSS @QBEHW ClLeaser o sai eresr eTeieT ?

(A) 1098 (B) 1030 (C) 181 (D) 100
Maich the following :

a) Hydrogenated fats 1) Carcinogenic E5E

b) Nitrites %), Allergy 1)

¢) Sweeteners 3) Cardiovascular disease

d) Sulfites 4) Dental Cavities
(A) 4,3,1,2 (B) 3,1,4,2 ©) 2,4,1,3 D) 3,2,4,1
O rmsss :

a) Boseyl L. Garupliy 1) ypmIssL19&6T ainLL. sryesser

b) s e ev 2) eéleurenLo

) @aflliLyL 13 seir 3) @wsw Crmi

d) FevovenLr’ 4) upGlengens
(A) 4,3,1,2 (B) 3,1,4,2 (C) 2,4,1,3 (D) 3,2,4,1
Select the food source of Vitamin — A from the given foods.

(A) Whole grain  (B) Gooseberry (C) Fish oil (D) Apple
SyuLL BleiTer 2_ewreysailedlhg el L b — A flapss o arelaars Gsinbe)s®.

(A) wpep smefluh (B) Gpevellssmis

(C) whasr arevsrOlemonds (D) yLner

Which is a correct match ? .
(A) Hogenakkal falls — Krishnagiri (B) Monkey falls — Coimbatore
(C) Courtallam falls — Tuticorin (D) Suruli falls ~ Madurai EE
sflwns QurmpBuecs Csisels®. o

(A) @Csassd Srafipss — Supayem®n (B) @omi ojmes — GamuibLiggi
©) eppren @il - s1$s16@19 (D) s@ell o@pad) — e

In which State Ajanta caves are situated ?

(A) Madhya Pradesh (B) Gujarat (C) Karnataka (D) Maharashtra
LS (SSEHET jenLDBGI6Ten Lomblevtd 615 ?
(A) g8 195Cseb (B) @guns

(C) sipm_sb (D) wsrgneyuyom



(e - ’
~ 15. (i) Hiuen-Tsang hailed as the prince of pilgrims, visited India during the reign of Harsha.

(ii) Born in 621 CE he become a Buddhist monk at the age of Twenty.

(iii) His Si-yu-ki provides detailed information about the war system.

(A) (i) and (iii) correct (ii) wrong (B) (i) and (ii) correct (1ii) wrong

(C) (i) correct (it) and (ii1) wrong (D) (i) wrong (ii) and (iii) correct

(i) vwewrriseflch @eTeugss THPELPSSLILIGILD LEITGHT HQINE QDIaHT JYISSE

U s LGS %%%

(i) Qun. 9. 621 6 pps weuner seundl Hib 201b WG FIPey LyGHTL M. (=l
(iii) @eunsy mrwres A.u).8). apieyfer Cumi weap LPD) FDIFDSI.

(A) (i) oppud (iii) & (i) ey (B) (i) opmyid (i) & (i) seumy
(©) (i) & (i1) opprid (iil) Seumy (D) (i) soumi (ii) opmpyd (iii) &

16. The Chief Justice and other Judges of the Supreme Court are appointed by
(A) The President _ (B) The Attorney General
(C) The Governor (D) The Prime Minister
2 55 BPI0GD swaveio FHUSG wHpib wHD BHLUBsmer HlubiiLieri
(A) GYwIFsS Ferevaul (B) @B5w 2186t VLD ULPSSHETEHT
(C) 2 emmir (D) &0 Syemipdsi

17. When was the Right to Property Act deleted from the list of Fundamental Rights ?
(A) 1970 (B) 1978 (C) 1980 (D) 1988
QL o Aeow Ll 9ewellmhg Clensgifeow Fésiil . e
(A) 1970 (B) 1978 ' (C) 1980 (D) 1988

18. Secularism means
(A) State is against to all religions
(B) State accepts only one religion
(C) An attitude of tolerance and peaceful co-existence on the part of citizen belonging any religion
(D) None of these

FLOWFTTLNGTEOLD GTGHTLIG] _
(A) 95 arss FLSHDGLD THITeTS @%‘%
(B) @i 07 @@ Fwgas L Hid I A A
(C) e85 FLoWSDS FNBS GULDSEILD FHIILISSETEOLOU]L 6T J{Gﬂ)l_ﬂ‘@mn&i @)ewrésL0T%
QUTLPS G
(D) @eupmier aigiajblébenew
19. Which of the following country is not the member of SAARC ?
(A) China (B) Sri Lanka (C) Pakistan (D) Bhutan
Bpssen_cuppier e1bs sk (SAARC) o mitnlesi B Sjevev ?
(A) Zesrm (B) wfevrkisr (C) un&evsner (D) L mer

R L ——————e e PR R R RN SRR SRR B S
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In India, coins are issued by ‘
(A) Government of India (B) RBI
(C) State Governments (D) SBI
@BGwnaled FrewTwBIE6T <60 Ooualuil_CiLGEma).
- (A) @B%w syae (B) @psw Meich ek
(O wrfle oype D) oG Guikis o1 @BHwr

21.

22,

23.

24.

25.

26.

Barometer was invented by

(A) Archimedes  (B) Newton (C) Torricelli (D) Tesla E,%%
unggsLonaflenwd SesBLg S5euT ' =
(A) yisanblyev (B) Byt abr (C) Li@seal) (D) Gievevr
We can hold objects in our hand due to
(A) Surface tension (B) Stress
(C) Friction (D) Co-efficient of elasticity
B30I Clunmweeryh BLbone 11966 Lp1g QISHSTET STIeRTLD
(A) gy @upealens (B) sasay
(C) 2 gmuiey (D) B-8s GewrsLd
Choose the correct pair.
(A) Gypsum — Dindigul (B) Titanium minerals — Kanyakumari
(C) Tungsten — Salem (D) Chromite — Tiruchi
Fiwnrer @enenrenw CsiBCs®. _
(A) &lisd — Beaw@dsed : (B) oo " GL_asflund sesfliosisenr — sesrasflwmgLom
(©) rigev_air — Gaevid (D) &Grrenior’. — RS
is a process of removing impurities from water to make it potable.
(A) Reverse osmosis (B) Boiling
(C) Distillation (D) Filtration
er6i (pepuileh Fifled o sirer onssseT BEsCLL @), Bi &35 a1 RSDS!.
(A) 1@ Fehgy® Lgeue (B) Q51854 evaugsed
(C) smisd® aigdsed " (D) sy s By g
*'ﬁ
The largest digestive gland in human digestive system is B
(A) Liver (B) Kidney (C) Pancreas (D) Spleen
waflg 2 1_efled snerIL@b BstQufu Qefwmer's &g
(A) sevaSged (B) @iubossib (©) sewewnunbd (D) weiwenfyed
Which river separates the Coimbatore Plateau from the Mysore Plateau ?
(A) Noyyal river (B) Tamiraparani river
(C) Moyar (D) Palar
61b% BS) e@t L Lyflanwwib, Camutbysgi U gflleowyid 9SS may 2
(A) Oprdiuey gumy (B) smblyuigent] oym

(C) Gomuwinmy (D) wrevmay



27.

28.

29.

30.
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Assertion : Cotton is considered as major raw material to India’s Textile Industry.

~ Reason : In cotton production India stands second position after China.

(A) “A” is wrong / “R” is correct

(B) “A” and “R” both are wrong L‘-.I:;i ]

(C) “A” and “R” both are correct %@

(D) “R”is wrong / “A” is correct

wpmy : UGS @pSwraler BsliCufu gayell Clgmplpsraewdd epevls
QurmenTs 2_diTeangi.

FIgentLd : LSS 2 puSSuiled Farmalln@ IBSSLILIG WIS @Q)TCHTL TS

QL sHev @B 2 6Teng).

(A) Py seuni/ srgesTid &)

(B) snmmy opmitd HrgessiLd @RI Seumy

(C) smdoy opmb Sayewith @)resa(Gib &l

(D) srgewid seumi/Fapmy Fil

Which is a correct match ?
a) Kaziranga National Park — Rajasthan
b) Ranthambor National Park — Assam
¢) Sundarbans National Park — Rajasthan
d) Gir National Park — Gujarat
(A) a (B) b ©)c (D) d
SLpssaTL_mauseper egl Filwnet GlLmmSsLb.
a) sr@ysisn CaFlw LymisT — @)ITeevS e
b) mpseLyi Ca@w YrhisT — Sjevevntb
¢) apgoaie CEAW LmIST — @)ITRQevSTes
d) & CasPw yrisT — SQITS

(A) a (B) b ©) c . (D) d
Find out wrong pair. ,

(A) Khajuraho — Hindu temple (B) Ashoka — Rock Edict

(C) Din-i-Illahi — A book (D) Igbal — Poet B
saupren Qevemaowg Cziay ClFuis. Y]
(A) sbonGanm — Q)bgisCasmailed (B) &Gsnai — Lnapssa6la (5
(C) Beir Qo) — @@ LSSHLD D) @éunéb — &aSlehT

The Constitutional Head of the Union is

(A) The President (B) The Chief Justice

(C) The Prime Minister (D) Council of Ministers
BHOUGHT YIFGT HTENIELDLIL] HEOGRIT eV

(A) GURwIsHs ST (B) semevento B5L1S)

(C) s yewiodart (D) yemiv&sisen @p

b R A o 1 1, 00 A £ 4 LSS T 11 it 151 kTt A5 e T L i, S 1 | 4



PART - B : Psychology, Law and Police Related Subjects

31. Fill in the blank.
Unless the artist had given his best
(A) the portraits would not have been so natural
(B) the portraits would have been so natural
(C) the portraits will have been so natural Eﬁg’
(D) the portraits might be so natural Eﬁ

32. Fill in the blank with the suitable question tag.
9

I’m right ? _
(A) amn’t] (B) am not I - (C) aren’t I (D) did I
33. Fill in the blank choosing the right option :
A is someone who suffers the effect of a crime.
(A) culprit (B) witness (C) victim (D) convict
34. Choose the appropriate meaning for the phrasal verb, “get rid of”
(A) To include (B) To eliminate (C) Toincrease (D) To decrease

35. Choose the option which has logical relevance.
L. The word ‘Fall’ indicates season.
II. It is an equivalent American word for ‘ Autumn’.

(A) Iis false II is true (B) I and II are false

(C) 1is true II is false (D) I and 11 are true
36. Match the following : : :

a) WHO I) Homophone

'b) Syllabi II) Acronym

¢) Knight, night III) Eponym

d) Boycott IV) Plural

A Il I IV 1III (B) I IVv. 11 1

(O Iv 1 I Gy 1m v o1
37. Fill up the blank with the correct word.

The king died :

(A) hire less (B) heir less (C) hair less (D) hare less

38. Choose the correct passive form of the following sentence.
I will never forget this experience.
(A) This experience will never been forgotten by me
(B) This experience will not be forgotten by me -

- (C) This experience will never be forgotten by me Q%%
(D) This experience will ever be forgotten by me =

39. Fill in the blank wfth the suitable relative pronoun.
This is Varun father is an architect.

(A) who (B) which (C) whom (D) whose
40. Choose the sentence that has no error.

(A) She did her homework every night (B) She has done her homework every night

(C) She does her homework every night (D) She does her homework last ni ght

Ay o I S i = S T it N e, R A i) e T Y AR R S e i, & e,
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41. eraueir + gupeuer-eraLIsmars CsigCsupsd Bl s@Ld ClEme

(A) er6uQlevt(HRIGH (B) ereuett gp(meusit
(C) ereuenGlestmmeuas (D) eretrGlasrmpaieit

42. ‘s1Q_cveumb’ -areiiepih GQemsvenevls LIMSS e11pss GlenL LiLig
(A) sm@® + QL_eemb (B) &n(® + erveuimd
(C) a&m+ Gl_cvevnid (D) smeir + er6vevMLD

43, @Qps sTwgms 2 ewTiggId ClsTL T 618 ? g}yg
(A) 9psen prever afL (BEG 6vheuTes =
(B) sevwrestl Grppay Lim_Lb LI SSmer
(C) wn®ssr @etimy Ljeb CouisleTpes
(D) ApGsieysdr peoL_ClupSepen

44, ‘Baa@pprew Bzt Gemeled elggeurear ereim PP Ll Quwit Quppe
Dfga_preiugsallgmui-aleo_sGspm allert yenioss
(A) @ssrewstsi Ganald alggeunes eemy FpUylt L L OGuwi Cluppeult w7
(B) ‘Bms@pprew prsi Csmaled allgeume ’ eren Aoy ul L O6Lwi Cuppari
w9

(C) BBseHorew prser Caraile aflggeure eiagy GlLwit CLppeurt wimi ?
(D) BwéGHpie prser Csmalsy wanaldgams ey Glwi CQuppeut wmi ?

45. ‘upeud’ aretp Qemevader Qunganers GsiCs®
(A) sLe (B) 2 (C) eunewid D) opdsLd

46. U118 2jL_oenpuiley en (et Beopiss-Csm_Md o erer e psamen 555
CT(LPSI .
(A) i) gevL_toenpuiled serpesl) Hlewppsa).
(B) @01u&) oy_roenipufled oar(rh6wsf] ﬁmﬁ)j}'}ggﬁ
(C) @uILf SyewL_enipuled senpenfl] FlenpBSSI
(D) oLl yewi_Loewpulileh sarhet! HlevpbS)

47. 9etreummeusteunayer ypLiGlungeiley @evewnsal e1gi ?

(A) afgib (B) Geups (C©) Qsmemi_ (D) snsev

48. ‘G | @G5! BB’ -9y98CsmyL L ClemcveSlsr Qassems GDILI®LIS Fmi
(A) @uien_sGarall (B) 2_mpeusid
(C) B&SSCSTLIT (D) 2 M&Gl&Fncd %%

49. ‘o Gmenid’ GTETLISGH 618)1F0lFTLMeV Fnnl
(A) Goiiemin (B) GQumiemip (C) eumiiemio (D) Gmriento
50. ‘cuwans eTeiiaiLb HLOPFOETOQISGL CUn@pgIDd Ym&evs ClFme
(A) Weather (B) Climate (C) Migration (D) Continent.
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Answer the following 51-52 questions.

Study the following graph carefully and answer the questions given below.

Grpésevr. aflesnsser 51-52 aflent_weldsayLb.

Bipo_airen auewpLILSens LNiSg CaealserssE LB 61(ipgis.

31.

52.

e B b i 1 . 1 b e =k o s, 6 0 3 A M50 e O o

Total no. of boys and girls in various colleges.

B

8

“§

B A Girls ] Boys
E 2 35 4+

: o 30 +

T awm

8

£ 5 ?,E 20

ngé g o 15

33 g2 10

35 T8 s

.&cg =

9 ) =5 ¢

B =

g 5

€ 4 Colleges —»
L &GV 6T

What is the average number of girls from all the colleges together ?

(A) 25,000 (B) 27,500
(C) 25,500 | (D) 27,000
Imasg sorfsaled @ua@Ld Cussafer sgred aawenlléans craar o
(A) 25,000 (B) 27,500
(©) 25,500 (D) 27,000

What is the difference between the total number of girls and the total number of boys from

all the colleges together ?

(A) 13,500 (B) 14,000 g%g
(C) 15,500 (D) 16,000
s gl saayisaledlnsGd Clorss oy esensE L Q)LiatsTS 6158 (& Lo TNt
sTesanflbens oSS wInFib cTeTen 9

(A) 13,500 (B) 14,000

(C) 15,500 (D) 16,000
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The following are 3 (53-55) questions based on the table given below :

Production of different types of scooters in a company.

Qur@ésiu Gerer i L_aiamentenws LIGSE SCLp o airar 3 (53-55) Casiralls@pd@ LIS

GI(Lp8Is. BimieIeTsPe SWrhEGLd L6 aISLOTGT VFnl L [IHET. e
E - .p‘
=

53.

54.

550

Type of Scooters oL L i aIen%

Year: A B | c| p |E
QUI(FL_LD
1992 180 | 60 | 84 | 100 | 76
1993 210 | 90 | 32 | 80 | 48
1994 135 | 30 | 44 | 95 | 85
1995 190 | 85 | 69 | 125 | 115
1996 260 | 95 | 120 | 80 | 120
1997 240 | 140 | 161 | 90 | 185

In which of the given years was the production of B-type scooters close to its average
production over the given years ?

(A) 1995 (B) 1994 (€) 1993 (D) 1992
ApiaueisBer 2 pUSBUID 61BG auGL LD B-auma avgal L Me 2 HLISE) I|S6
gonsf) o DLSHSG ABHEV 2 GTars ?

(A) 1995 (B) 1994 (C) 1993 (D) 1992

In which year was the production of D-type scooters maximum ?

(A) 1993 (B) 1996 (C) 1995 (D) 1997
D-cauens avdal L MeT 2 PSS 615S UBL- DD B SLons 2 aireng ?
I(A) 1993 (B) 1996 (C) 1995 (D) 1997

What was the approximate percentage of production of A-type scooters in 1995 to its total
production over the years ?

E#E]

i
(A) 20 B) 15 (C) 23 (D) 40 =
Qan@ssriul L yar@seis Qngs 2 pus@uled, 1995 1b au@L s A-aums

avam i L_Mer Csmomuioner o PLSH ssalsLb er6iten ?
(A) 20 (B) 15 ©) 23 (D) 40



b

Answer the following 56-57 questions.

The following graph shows the percent profit earned by two companies (M and L) over the years

1994-2000.
Spdaair aflernsser 56-57 aflent_wielldamayib.

S
[=

Gipssei Casn® atengi b 1994-2000 AE W YRS @)gevsT() [BlmieuaTEIsseT
M oppnb L) mliguwi ey 5098555 NGRS G-

56.

57.

58.

80 -+

70 +

60 <

50 -

40 4

a0 4

20 4

10

o

1994 1995 1996 1997 1998 1999 2000

In which year did company M earn its maximum profit ?

(A) 1997 (B) 1998 (C) 1999 (D) 2000
Tbs yevnig e M ereiteniih Blmieuaid yDSLILF LSS FLag g ?
(A) 1997 (B) 1998 (C) 1999 (D) 2000
In which year did company L make its minimum profit ?

(A) 1997 (B) 1998 (C) 1999 (D) 2000
6155 Hag.ev L ereiiaiid Blpyeuenid @amppsLl & eomgans Flaquig ?
(A) 1997 (B) 1998 (©) 1999 (D) 2000

Which of the following diagrams indicates the best relation between Males, Fathers and
Human beings ?

EgEE
O O mEh
(A)@) i) (C’ (D’@Q

ECyp CsnBsaUILI Be1ar 6THS QUETLIL Lh SYESIHEH, HFSEET LoD MILD OG5 @5 &%
QevL_uilev 2 erar Glgm_iewu Apriuns QeelliL(ssSna

(A) @ B) OOO (© (D) @ O
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~ The following two (59-60) questions are based on the Pie Chart. Investment in different companies
by Raghunadhan. (Rupees in Thousands)

Sipseir_ @uesa® (59-60) aflerss@pid LGLILIS®oTE ClETemL. Qi L $B6T aueiLL S5
Fnitss). GeusiGaun Hlpeueriisaile g@piseher (psed® (enumi-uilgmnsaie)

59. What percentage of the total investment is the investment in B ?

(A) 12% (B) 24% (€) 36% (D) 48%

B uflév 2 amar (1pF6S®), Oonds 1LpsSL 196 e1Ssamer 5aI5LD ?

(A) 12% (B) 24% - (C) 36% (D) 48%
60. What percentage of the total investments are kept in company E ?

(A) 19% (B) 23% (C) 31% (D) 57%

Quonss 1psedL 19, E flpiauaigled 2 eirer wpsedi 19651 s56f5Ld cTcte ?

(A) 19% (B) 23% (©) 31% (D) 57%

61. In the following series, replace the question mark (?) with suitable option.
17, 36, 74, 150, 2, 606

(A) 250 (B) 303 (C) 300 (D) 302
Weirauptd Gsm_Mev, Csarals@sluier (?) @L g8 CurBssLones allenL_emw
2jafldsayLb.

17, 36, 74, 150, ?, 606

(A) 250 (B) 303 (C) 300 (D) 302

62. Find the missing letter.

P|. T |2 DI
ol ols B
M| N

(A) 1 (B) L © O D) U
QIBLL L GILpS NS SHaTL 5.

PI{ T |?

ofQ|s

M| N |R

(©) O (D) U
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63.

64.

65.

66.

Given that,

1) Aisthe mother of B

2) CisthesonofA ' {ﬂ;;li_l

3) Dis the brother of E ' %@ﬁ

4) Eisthe daughter of B

The grandmother of D is

(A) A (B) B © ¢ (D) E
Olsn®dasic g,

1) A eréirseui B udlesr smuineumi

2) C erétrcuit A a6t Lo&6sT

3) D eréirueui E uieir sGsnzpetr

4) E erastucui B ullesr wossein e1a5lov,

D uflesr L 1g w9

(A) A (B) B ©) C " (D) E

If the day after tomorrow is sunday, what day was tomorrow’s déy before yesterday ?
(A) Friday (B) Thursday (C) Monday (D) Tuesday

Brenan LopIpIeT @TuIDMISSIOEILD GTGTDITGY, BIenaTis prefler @b BITST (PG
[BITGIT 6TGHTGET 7

(A) Glovsirefg & panio ' (B) eflwmpa@penio
(C) @nmsan@penio | (D) QeeieumiBpenin

If ‘UNCLE’ is written as 94 6 7 2, ‘SISTER’ is writtenas 53 5 8 2 1, and ‘SON’ is written
as 5 8 4, then what will be the code of ‘NOISE’ ?

(A) 64825 (B) 84652 (C) 46356 (D) 48352

‘UNCLE’ ms@;m ounmigeng 9 4 672 eraiipud, ‘SISTER” er6i1amyth cumigens 53 5 8 2 1 erahmyib,
‘SON’ ereitenuh cumigeng 5 8 4 eresmyLh erpsiii_mev, ‘NOISE’ GIGHERILD QUTTSENG GTEIGLIT)
TIPS LILI(OID :

"~ (A) 64825 (B) 84652 (C) 46356 (D) 48352
Find the correct answer in the place of question mark (?) E%
Burglar : House : : Pirate : ? o
(A) Sea (B) Ship (C) Sailor (D) Crew

Cacralld@puil L @Q_s@er sfwner allev_emwd s OB S50 Lb.
Bwar: oS@ : : sL_pelsmerenemuii: ?
(A) sLe (B) sowue (C) wrguh (D) Gupalaesi

T T T 1 4L 1 1 0 T b £ 0 0t b,
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67.

68.

69.

70.

71.

(A) T 250

-15-
Sequence the following in logical order :
1) Hexagon 2) Nonagon 3) Pentagon
4) Heptagon 5) Octagon
A) 1,4,52,3  (B) 4,3,1,2,5 (C) 3,1,4,52 (D) 1,3,4,5,2
sissang afastlcdemaeaapan aflasu(Ssalb EIE
1) Gapdevaaer 2) prllesnsast ~ 3) Guess_seir B
4) OamiiLses 5) 2sCLnseir
(A) 1,4,5,2,3 B) 4,3,1,2,5 (C) 3,1,4,5,2 (D) 1,3,4,5,2
Looking at a woman sitting next to him, Amit said, “She is the sister of the husband of my

wife”. How is the woman related to Amit ?

(A) Daughter (B) Sister (C) Wife (D) Daughter-in-law
SeKIg) LsESH0 oitDBEGLD @ Cuaiamentts Lmigg iblé splwgl, “jeuer
161 Loaweradufleir senteuller #Gansf”. oG Lehoeh) OSHHEG eretrew GlFnpgLb ?
(A) Losseir B) #GansM (C) wemaeral (D) w@Loser

A is taller than B but not as tall as C. D is taller than E but not as tall as B. E is taller than F -
but not as tall as D. Who among them is the tallest ? _

(A) B B) C €) D (D) F

A eratrreuri B eow el 2 wimb yewrmev C gjenay 2 woih @ebenev. D ereiriicurt E eow
@il 2 wyth yewned B wjemay 2wyt (@)evemaev. E ereirieut F eow aflL_ 2 wigth yerTed
D wjenay 2 woth @)evevev. @euisailed wrr @uriuSCeoGu 2 wyonesTeuii ?

(A) B B) C (C) D (D) F

Ram and Shyam are ranked 13™ and 14" respectively in a class of 23. What are their ranks
from the last, respectively ?

(A) 10%, 11 (B) 11% 128 (C) 11™, 10™ (D) 13™, 12"
23 LomeRTeURSET 2_6iTem euLILIG, gmh LoPmLd apwmib (penpCu, 136ug) pmib 146ug)
sraiflesuicy 2 drarari weapGu, s AuieSlBis Sauiselier sreumaa eeie ?

(A) 106ugy, 116ugy B) lleug, 1265 EI:;iIEI
(C) Neug, 106ug (D) 13eug, 12015 % %

Chaturviga bought a raincoat and saved 3 50 with discount of 20%. What was the original
price of the raincoat ?

(A) T 250 (B) ¥ 500 (C) X125 (D) ¥ 300

sgireflanm 20% searesLig e @ CuuilarGer i eurmi&) X 50 g Cablggmi
eTesfled QuuesrGsm’ 196 9F60 aflencv eTetTaT ?

(B) T 500 (C) %125 (D) % 300




"
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72. If x% of 600 is 450, then find the value of x.

(A) 85 B) 75 (C) 65 (D) 125
600 @)eir x% er6i1LIgY 450 6T6vflab, X @)6iT LG IOLIS Hrewnss. %ﬁg
(A) 85 B) 75 (C) 65 (D) 125

73. A Father is 6 times older than son. After 2 years father will be 4 times older than son.

What is son’s present age ?
(A) 4 (B) 3

©€) 6 D) s

spCung spwstler awwg wseller uwamss Gure 6 wi b @) o &wor ()
WBL-BSESL Up@ spaguiler awg) waellar awamgliGuned 4 L nig oy
QBSGLD. waaller spRLTmSW aIwg) eTeTaT ?

(A) 4 (B) 3

74.

© 6 D) 5

I : Arectangle is an equiangular parallelogram.

II : A square is an equilateral and equiangular parallelogram.

(A) Only I is correct

(B) Only II is correct

(C) BothI and IT are correct
(D) Both I and II are incorrect

I: @@ Gesiasid suoCasmemperer @)anewrsgiongLh.
I: @@ sgimh er6iLg FoLdstb wHmLd s1oCsmerperer @ewewragLom@Lb.

(A) Il @ oM
(O 1 wpmub 11 @ueasa@id &M

75. Match the following :
—71:

1Y

; 125
i) 0+(-138)=-138=(-138)+0
iii) 4b’c has degree
iv) The zero of 4 — 2x

(A) 4,3,2,1 B) 1,4,3,2

QumrmsgIs
o 71
i) Tz—s
i) 0+(-138)=-138=(-138)+0
i) 4b’c er g
W) 4-2x & yFPuib
(A) 4,3,2,1 B) 1,4,3,2

(B) II o @b &M
(D) I wpoub Il @oess@®id Sy

1) 2

2) 3

3) Additive identity

4) Terminating decimal

(©) 2,4,1,3 (D) 3,1,2,4

vt e
ys3 B
3) a6 Fipesf)

4) wyeayp s ailfle

© 2,4,1,3 D) 3,1,2,4



76.

e
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Find the term that will come in place of the question mark (?)
ABCDEFG, GABCDEF, FGABCDE,?

(A) EFGABCD (B) GABCDEF i
(C) EFGABCDE (D) FGABCDE &gk

Gasiraa@ui L QLB euLh eipdgissaien Clsm_emis SaaGILILg s5a LD.
ABCDEFG, GABCDEF, FGABCDE,?

(A) EFGABCD . (B) GABCDEF

(C) EFGABCDE (D) FGABCDE

In the diagram, the ‘circle’ represents, ‘ladies’, the ‘triangle’ represents ‘teachers’, and the
‘rectangle’ represents ‘unmarried persons’. The numbers given in the diagram represent the
number of persons in that particular category.

2/ 9 \
19 11 B

How many married ladies are teachers ?

(A) 6 B) 3 © 9 (D) 11

aueanTLL 886 QanBésil (Herer eul L b’ ‘ Qucssamens’ @pESngl, * (LpsCemeniLb’
‘ g PAwismes’ GPsHpg wHpID ClFaieusLoTaTs)  BI(BLOTLOISTS BLTSEOTE
GDSEDg). L 3B Qsr@Esiiul Gerer eiauser ks GO L 9failed

o 6t BLITSNGT cIassicwlidanganuid (&mld@Lb

=
E¥E
B

19 11 h

e1gsmaeT P pLoeniiones Gluewser < FMwisedr 2

(A) 6 B) 3 (O (D) 11

10 e e e 18 4 e AR 4T e T SRR, i TR T
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78.

79.

80.

81.

82.

(A) 16 9ng

-18- _ A

Arrange the words in meaningful sequence.
1) Elephant

2) Cat B

3) Mosquito Bk

4) Tiger

5) Whale :
(A) 1,3,5,4,2 (B) 2,5,1,4,3  (C) 3,2,4,1,5 (D) 5,3,1,2,4
umigengsaen ClLmEsswner auflasuiled e iodemayLh.

1) wnenesr '

2) yewew

3) GQ&ns

4) yed

5) Bulimiseib

(A) 1,3,5,4,2 (B) 2,5,1,4,3 Ky 32,415 (D) 5,3.1,2.4

Which will come in the place of question mark (?) find from the options.

BIP, ELR, HOT, KRV, ?

(A) NUX - (B) NUY (C) MTY (D) MTX

88y Glsr®ssiiul Gerer allenLsofled @Q@Bpg, Gadrad @O L @) SFer
Qunsgwrer aleo_ew Csiay Gsdrs.

BIP, ELR, HOT, KRV, ?

(A) NUX (B) NUY (C) MTY (D) MTX

A man goes 5 km Eést, then he turns right and goes 4 km, then he turns to his left, and then
goes 5 km. Which direction is he facing now ? _

(A) North (B) South (C) East (D) West

@6 wallser 8lpsCa 5 Hif Caw@prer. DeueT arewgpib H@bi 4 Db Cleab@mreir.
Ln@ eudt @Lgi Lussd Bwibid) 5 Gub Qe@pret. eus QUGS a5s Heavsew
GCrré&) GCleaw&mmer ?

(A) an g (B) Csps | © Bpss | (D) Guope
HCF of 18 and 27 is

A) 3 ®) 6 © 9 D) 10

18 wopmytd 27 @)eir LBL1GWLI@ Cingyd smges) E%g
A) 3 B) 6 ©) 9 10 ™

A 20 feet ladder leans against a wall at height of 16 feet from the ground. How far is the base
of the ladder from the wall ? : :

(A) 16 feet (B) 14 feet (C) 18 feet (D) 12 feet

20 opg peraperar gewfl, sepmuilelimpgs 16 oy 2 wpsPed safaans Qsr@Lommy
FMUSG] eveudsiii(petansy eraflev, sHoumeSlmig ereniuilen g LILGB LTS siciaiens,
HNISBL 2_6irengy 7

(B) 14 opg

©) 18 s ©) 12 o3
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83.

84.

85.

86.

-19-

What happens to the area of the triangle, if the base is increased 2 times and the height is
halved ? ' ' '

(A) Decreases to half (B) Remains the same EgsEl
(C) Increases by two times (D) None i

@I (Lpd s neng B eir auq_:_':u&‘;&gsmg @ueE(B) LOLBISTELD, 2 WISES LITHWTSOLD
wrppib Cung) wpsCsreasSle LFLILIGTG] GTUITD] LOMDILD ?

(A) wr®wns wrmib (B) wwnrg)

(C) @uedw(® LoL_MmISASLD (D) armblevemev

Which of the following cannot be taken as probability of an event ?

(A) O (B) 0.5 o1 (D) -1
L9eiTaI@geueTeIDmIGT 618 Q5 HlapsPuleT Fespsseuns Qs (LpLLns ?
(A) 0 (B) 0.5 ©) 1 (D) -1

If three non-zero numbers a, b, ¢ are in Geometric Progression then

(A) b=3‘-32’—°_ (B) b=ac ©(©) b=+ac (D) §=2=C

2
a, b, ¢ a6 epeitny LFNwLoPD eTetTseT QLBEGS CFmLiT auflansuiled @Q)wpsTeH
(A) b:a_*z“" (B) b=ac (C) b=+fac D) b:%

Find the number of triangles in the following figures.

(A) 12 (B) 13 (©) 14 D) 15

(L& CsTessIS B 6i1 sretenfldeaaw LTI LIL SB0 S{ CTILSIS.

=05

(A) 12 B) 13 (C) 14 D) 15

bt R A A, Py RNt AN 08t 1980 A L T 0t i b T b AL I AV A R AL A I TR S



e

87.

88.

89.
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There are 23 steps to reach a temple. On descending from the temple Ram takes two steps in

the same time. Shyam ascends one step. If they start to work simultaneously at which step

will they meet each other ? EifE
B¥ore

(A) 8 (B) o (©) 10 W

26 Csrallevew geni_w 23 Ligser o erenar. Gasmalassy @wBsr @prigd Cungy

gmb @Gr CpigSed Quas® Ly 1RSS5 @UERDTT. eywimd @b LI a6,

auisar @Gy CrrsHed Gaueme Qs Csm_BSearmen. 61lh% uu;uﬁ?ev DJGUITSGIT

REUMICWTEouT FEBILITISET.

(A) Bougy B) Yeugy (©C) 106ugy (D) 1eus

Which one of the following diagram best depicts the relationship between tables, chairs and
furniture ?

(D) 1 1|h

(A) (B)

© . (D) @ O

vestaupLd cuengtiiL_misafley a8y GLoengoserr, BadaTedser, gm@um_rw;m

O

86%?

2B WPPIGT 2 pevey PpLins NesNEE DG 2

" P
o

Identify the odd figure.

®

O
(D) @O

n n n 456
pm TR oD < = e = P
u n u: Eléﬂi
a b c d . -
(A) a B) b € ¢ (D) d
@5 Coprg 2 Bougewss sETLINES alen Hms.
n n n u
oD e - [ e = = = ]
U n u U
a b c d
(A) a (B) b ©) ¢ (D) d
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90.

91.

92.

93.

94.

21- A

Rakesh is on 9" position from upwards and on 38" position from downwards in a class. How
many students are there in the class ?

(A) 47 (B) 45 (C) 46 (D) 48

@@ @Il grCsey sreLeut Gelmpgl 9 g Q)L-SS@iib LPpILd S0 wba 38 augl
QL sSei> Q&S D, CUOTSSLD CTSSEGT LOTGWICUTEGT I b QIGLILI6h 2 aiTerei ?
(A) 47 . (B) 45 (C) 46 (D) 48

Section 128 of Indian Penal Code deals with which one of the following ?

(A) Aiding escape of or rescuing or harbouring such prisoner onic

(B) Public servant voluntarily allowing prisoner of state or war to escape =

(C) Public servant negligently suffering such prisoner to escape

(D) None of the above

@).5.5. 197ay 128 BipseTL_aupslayen sTaupepLl UPHE FDIBDS] ?

(A) gsma a8 sL9F ClFde 2 Faj560, euamy LB L 6, s YU HSGLI
Ljsavallss e

(B) wrad maBaw g Gurt esPais sUL9s Cedbe geralldamawins
SIS ERGETD g semBluit

(C) sissmsu @aPoug ULl QFae e e wrs oI @G al@ Clung oar Slwir

(D) Gopsessii e1giaLblebenev '

“Harbouring of offender is an offence’ is dealt under which Section of IPC ?

(A) 212 - (B) 312

(C) 222 (D) None of the above

‘@pib QFiI56IHEE LSS Lb Holss6 GDLEL’ e (3).5.4. aller cbsLl
L9fey euengwmSH S ?

(A) 212 (B) 312

(C) 222 (D) Gule P L eiHab @)evene

Which Section of Indian Penal Code provides for counterfeiting currency notes ?

(A) 498 A (B) 489 A (C) 489 (D) 498

@QBBHw seLmend Fi1L_SGl6T apsL) LMalleh preRTwgsneirsaar ST S S GILD15S
swrlésed LHBIS Fapliu (Hereng) ? EZI:;;IEI

(A) 498 A (B) 489 A (C) 489 (D) 498 %ﬁ

Which Section of IPC provides for a hangman who hangs the prisoners as per the orders of
the court is exempted from criminal liability ?

(A) 86 (B) 88 (C) 80 D) 78

@.5.5. adlar sl ey, BHLHDSHET T BepCeupmib CummL 6
@poeuneflanws FNEFD Q)BLIIBSS GDD saw_eeanuiledlmis allevds@ yelidsamaevL’
LDl FnI&DE ?

(A) 86 (B) 88 (C) 80 (D) 78
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96.

7.

98.

99,

285

The word “injury’ denotes harm caused to any person in

(A) Body and mind ' (B) Reputation

(C) Property (D) All of the above

‘unliy’ ereip Clened e1euEGsenith o et nESILIGIL SrI&6H ereunmleneurd;
GDISGLb.

(A) 2.L6b pmiLd toevg (B) mo@wiw %!,5!!]h
(©) Glongg (D) Gupsav_ oenensgib Eiﬁ%i

An accused died while kept in lock-up of a Police Station. Under which Section of CePL.,
Magistrate empowers to hold enquiry ? '

(A) 175 (B) 172 © 173 (D) 176

sraued fleovewwsfd, GPPLL FwSLILL L af &meucdlpLiif6h ()& GLimg)
QigCunennsy ‘BE@eut allsmgenent GuopCamsrer oBsmh 9efld@b &.a.m.
Fli ey e1gy ?

(A) 175 B) 172 (C) 173 - (D) 176

Direction for grant of bail to person apprehending arrest is given under Section of
Cr.P.C.

(A) 438 (B) 439 . (C) 440 (D) 441
&gl ClFiiL_ds @b etepid Haveveru a8iCprERuNGLILIMGSS DenewTuiich
l@aug Csm_iuns @.e09.5.4. e o DU (B 2 Teng).
(A) 438 (B) 439 (C) 440 (D) 441

Which Section of the Code of Criminal Procedure deals with Serving Summons on
Government Servants ?

(A) 63 (B) 66 (©) 67 (D) 68
GDpailwed allsmyenent peL_upapé FUL B erbs 190 s oam ST e

YLt Fmiy CFiieus) Qs s GOINIRB DS ?

(A) 63 (B) 66 (O 67 (D) 68

Under which Section of Cr.P.C., a Magistrate may dispense with personal attendance of
accused while issuing summons and permit him to appear by his pleader ? B

(A) 205 (B) 206 (C) 207 (D) 208  Eis%h
@@g)éﬂm@ aflgngenent (peopé FUL_SRew o165 19Maler Uy @b HEeUTTEsTeUT
DeLpLitinenesst pLiLds@Lb Clumips) GHmid #m L CiQLbD auey (peresileneviwmeyBed
QoiEg5 Nwsselss, e wmssns Quig PEsPlEraT (LpeiTet e uins
WYL FGHITLD ?

(A) 205 - (B) 206 (C) 207 (D) 208
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100.

101.

102.

103.

104.

10S.

(D) pnersraw@ser Lt Blape) ClFIS BSS6D

23-
“Right to Appeal” by victim provided under Section | of Cr.P.C.
(A) 368 (B) 370 (C) 371 (D) 372

un@asiiul Lsur Gue wpapui® QFliwssmigw 2 fenw aupmsliLil () 2 6rer
&.0.5.4. ey

(A) 368 (B) 370 (C) 371 (D) 372 e
In which year the New Pension Scheme was implemented in Tamil Nadu ? EI@
(A) 01.04.2004 (B) 01.04.2003 (C) 01.04.2005 (D) 01.04.2000
SPsSH® LW @uIgLG B L Lb bS5 HRaTH LS IYLORIEG UbSSI 7
(A) 01.04.2004 (B) 01.04.2003 (C) 01.04.2005 (D) 01.04.2000
How many Police Commissionerates are there in Tamil Nadu ?

(A) 7 _ (B) 8 ©) 9 (D) 10
s101pasBleh 2 drer eI Y meTusBsale Clorss earelibens et ?
(A) 7 (B) 8 © 9 (D) 10

- Which is the Police Medal awarded for outstanding work in curtailing illicit liquor in
Tamil Nadu ?

(A) TN Chief Minister’s Police Medal (B) Gandhi Adigal Police Medal

(C) Anna Police Medal (D) Kamarajan Police Medal

F101ps5Ped sarers FmymuSmS RILILB SaenlSIHD LSS TS GBS LILIGLD
HTOUD LISEHBLD 615 ? ' '

(A) SLOPHIGR (LPS@EIDEFFMGT ST LISHSHLD

(B) snp@uwigs6r Smeued LiSHLD

(C) Sy@ewin SA6U6 LISHSLD

(D) smognggir sneued LIGEHSLD

TN CM'’s Police Medal is awarded to Police Personnel who has completed not less than

years.
(A) 5 years of service completion (B) 10 years of service completion
(C) 15 years of service completion (D) 20 years of service completion

51015 (LpseveulesT sraue LSS CUD ISSMaT YIRS Lewl Hlapa
QeuiBwssev CouehrHId ?

(A) 5 yam@ser el Heapey (B) 10 gyatr@sar Lend) Heoopay  HEH
(C) 15 oyetm@ser Liawh Henpay (D) 20 gyeim@asr Lol Deopey  ERH

How many years service required for conversion of AR/TSP Sub-Inspectors transfer to local
Sub-Inspector ?

(A) Completion of 2% years service (B) Completion of 5 years service

(C) Completion of 3% years service (D) Completion of 4 years service

TSSO ETRSET uSLL PDID SOPBIGH FpLiy HT1aleD veni_ufled
LiewfiLfisned 2 s Syiiaunent sngissT 2 sall uieunenyns Liest LomDLD Glupevmd 2
(A) @uesr_evg esiGsen ussiflapey ClFiIB KBS

(B) @bsranGssr el flapa) BB

(C) epsirmeny yeaBser Liewll Blavpe) 65BN BSS6W



106.

107.

108.

109.
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“Security for good behaviour from suspected persons” is dealt under Section

of Cr.P.C.

(A) 108 (B) 109 (C) 110 (D) 111
“epCss$BDEN_Lone pLiiselL b @)@558) BeTeT_Smsssnar enemith Cumyaug”
GPIs& G.all.p.5. _ 19Maled smplin Herens.

(A) 108 (B) 109 (©) 110 D) 111 %5%

Which Section of Cr.P.C. enables a Police Officer to send report to District Magistrate for
removal of nuisance in public place ?

(A) 129 (B) 130 (C) 131 (D) 133

PPN allsTgerent penl_(pepd FL LSBT eibs 19Maer Lig. SreucvB s i
‘el flgeins pOGES” Ostdmamau BéGashars Bléams 2 eRILILL
Qb .

(A) 129 (B) 130 (C) 131 (D) 133

Section 165 of Cr.P.C. deals with which of the following ?

(A) Arrest - (B) Search by Police Officer

(C) Examination of witnesses (D) Magistrates

@Dl allFmremen s (pampé s L Lb 19Mey 165 oyenz ELpEHTEYLD eTeUDEHDL]
ups GPUGEDg 2 '

(A) a5

B) snaewBart CongaaniGeug &pss

(O) sm’Qsevor aemfiLig Eplss

(D) Bp®euiser

If a person aggrieved by a refusal of an officer incharge of a Police Station to record the
information given by him, may send the same to District Superintendent of Police. Under
Section of the Code of Criminal Procedure.

(A) 154 (1) (B) 152 (2) %%

(C) 154 (3) (D) 155

RG pUT QPpEGL Fsame LSe) CFiiB st Beew Gimpyiy 9SGV
LDISSTR, IYhS SHUMG LOAGUL L FIGUGD ST ST LILITOT55& (& HDadlwe
aflFnranent Bevi_(Lpepd FLU1_SHew wifedleir Brp oyenLiLievmtb.

(A) 154 (1) (B) 152 (2)

(C) 154 (3) (D) 155
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110.

111.

112.

113.

25 A

Medical examination of a rape victim should be done

(A) Within 24 hours from the time of occurrence

(B) Within 24 hours from the time of registering F.LR. mym‘

(C) Within 24 hours from the time of receiving the information % %

(D) Within 24 hours from the time of arrest of accused

L iEF eupdGaailed LTRESLILL L ey WwESH UMNGFIFmars s
o I LI(hSHIMIF] |GG

(A) sbueutd s Qupp Cris@e @)mhg 24 wesfl CEISSDHGE (LpLgssLILIL.

Goust(Gid

(B) s ssaue IyBflsmas uSwLILL L Seb B)BHgl 24 wenfl CrIsBH@EE (LP1&FLILIL
Geuavsr(h)Ld

(C) ssaued Qupriul L Grrs8ed Qg 24 wewll CrIsBHGET (LY SSLILIL
Geuetr(h)Lb '

(D) @opib FwSsLILLL i &g Qi L S @whs 24 ewf GrusPD@er
wpiydaLiu. Gouewrhith

Which PSO deals with the use of handcuffs ?

(A) PSO 639 (B) PSO 640 (C) PSO 641 (D) PSO 642
masallonGadr LUETURSHS® LDD) 6Ths FTeus Bl Jyement alaréGHDS ?
(A) sm.f.25.639 (B) smi.g.640 (C) smp.. 641 (D) bl 642

TN PSO deals with remand of accused to police custody.

(A) PSO 642 (B) PSO 643 (C) PSO 644 (D) PSO 645

@ Asmens srash glenpularfer smaedle agse FLIBSLONG SLOIPHIG) ST
Flenev 9|,cnewT GTGHT aNleul&&ma).

(A) sm.fl.o. 642 (B) smBl.gy. 643  (C) smHhl.g. 644 (D) . /b2y, 645
Match the following :

a) Part—1 i) Crime charts

b) Part—1I ii) History sheets

¢) Part—1III iii) General conviction register

d) Part—1IV iv) Work of Habitual Criminals

(A) a-iv, b-ii, c-i, d-iii (B) a-iii, b-i, c-iv, d-ii

(C) a-iv, b-i, c-iii, d-ii (D) a-i, b-iii, c-ii, d-iv
BpssavL_aipep ClUnbss.

a) uGH -1 1) GO aNlardsls LIL_EIH6T EI5E

b) ug® -1 i) eugemDmIs GPILILISET e

c) ugs -1 iil) sewr_eerts Gungts LHCeu®

d) us® -1V iv) aupsswnar @nparelseame penLGlLppea

(A) a-iv, b-ii, c-i, d-iii (B) a-iii, b-i, c-iv, d-ii

(C) a-iv, b-i, c-iii, d-ii (D) a-i, b-iii, c-ii, d-1v



114. Match the following :

115.

a) Inspector of Police (Law and Order) i) PSO 185

b) Duties of Inspector (Crime) ii) PSO 188 mgm
c) Rt_aserve Inspector i_ii) PSO 181 %ﬁ
~d) Diaries iv) PSO 179
- (A) a-iv, b-iii, ¢-ii, d-i (B) a-iv, b-iii, c-i, d-ii
(C) a-iii, b-iv, c-ii, d-i (D) a-i, b-ii, c-iv, d-iii
Grpsngitb QUIMBEISEOT 25 HETeT &i1.[pl. 9. cre85Conn(p) sMwns QLITBSEs.
a) &rauGh g uieunen i (FL L b LopmiLh 1) &m.bl.2.185
RUPLIS)
b) snaudgiewp gy uieuneriisr sLewser (@Hprifa)) ii) &m.15).9;,.188
¢) GsbLiuenL gy uiieurariser iil) &m.bl.gy. 181
d) pm@pliyser V) &m.bl.g;. 179
(A) a-iv, b-iii, c-ii, d-i (B) a-iv, b-iii, c-i, d-ii
(C) a-iii, b-iv, c-ii, d-i (D) a-i, b-ii, c-iv, d-iii
Match the following : -
a) “Q” Branch i) Anti-Narcotics Task Force
b) CCIW CID ii) To monitor Naxalite activities
¢) SBCID iii) Misappropriation in Co-operative Societies
d) NIB CID iv) Collection of intelligence and dissemination
(A) a-ii, b-iii, c-iv, d-i (B) a-i, b-ii, c-iii, d-iv
(C) a-iii, b-iv, c-ii, d-i (D) a-iv, b-i, c-iii, d-ii
ELpssadTL_aipen CUnBssIS6 :
a) “suyp” 9Mey 1) CumrangliCQunmer @Iy Ifey .
b) CCIW CID i) pésmel Qésclar BL g SmEsmar sensTenissd
¢) SBCID iil) euenflsallwed GoHp Lewvermiia 9Mey
d) NIB CID V) gaadsaar Crafgsd woHmih LUBIBESNESH
(A) a-ii, b-iii, c-iv, d-i (B) a-i, b-ii, c-iii, d-iv
(C) a-iii, b-iv, c-ii, d-i (D) a-iv, b-i, c-iii, d-ii

116.

a0 o o 8 I 0 1AL TG b 5 0 P 8ty £ 1 80, 156 b et T LT T 1N 1 A AN 8 At S 0 et AR b e,

According to Section 101 of IEA, a person is bound to prove the existence of any fact, it is
said that the burden of proof lies on that person.

(A) Totally true

(B) Total'l){ falrv»e o mpE

(C) Provision is true - explanation is wrong %ﬁ

(D) Provision is false - explanation is true '

Wiley 101, @).4m.5 -38)68 LIy @t eTBSE FHIsBute e oenwGenILD Bl(HLI55E
SLewUUL 1y BEGd Cungs, Bwls@d Qummiy Seueps FAABSBLILISTEE
CeneveriLI(®Bb.

(A) wpwpougyib il (B) wapaigib s

(C) el 09ay sh-aflendsid oy (D) e 19May Seup) -aflendssib FA
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117.

118.

119.

120.

121.
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of IEA explains about “Refreshing memory”.
(A) Section 157 (B) Section 159 (C) Section 133 (D) Section 140

@pBw FrPw F1L_SH6V “Blevareneuls L ILINSS0” LDHY) FomiBDSI-
(A) ey 157 (B) 9Rey159 - (C) ey 133 (D) Ifley 140

As per Section 5 of the Evidence Act, the evidence may be given on ;

(A) Fact in issue (B) Relevant facts %%

(C) Both (A) and (B) (D) None of the above

@QBBwé s Qus sL_gGle 9Mey 5 & Ly, aaupPlEsns s Swib 9jefldseuLd
(A) 9pssmariiiayerer smisS) (B) QsrfiyeL_w FEIsS)

(C) (A) wpmib (B) @) uessr(pid (D) Gopasevs_ e1gjLb@)eveney

Section 119 IEA says about

(A) Child witnesses (B) A witness who is unable to speak

(C) Eye witnesses (D) Independent witnesses

Afey 119, @BSw Fr’ Sw &L_1_1b upmy FmIS DS

(A) sLpbes FT SlwniseT (B) Gue& upigwins Frl Sluwimser

(C) GrMev Lmigs Fm Swkiser (D) salciul L s’ Suimiser

If a dying declaration to be admissible in court, it

(A) Must be made before a Magistrate

(B) Must be made before a Police Officer without corroboration

(C) Must be made before a private person without corroboration

(D) None of the above

wremard@apetd SHLEDSB F1 Awns gpmsesTsTeTILL. WwIgT® LSe)
QFuinucii_ Gouessr (b ?

(A) p@eurr (Lpeirestienevuiley

(B) smacgiemp yPsmi weraflmauled, 2 pif LBSHID FT8 @bz Bleneuiley
(C) safl Bt psireianeuied, o MIBLGSSID sTL5) @)evevns Fleancvulleh

(D) Guopsasit_ ergid @)eveney

The nodal agency for implementation of Crime and Criminal Tracking Network Systems (CCTNS)
in Tamil Nadu is

(A) Crime Branch Crime Investigation Department (CBCID)

(B) Special Branch Crime Investigation Department (SBCID)

(C) State Crime Records Bureau (SCRB) E%E;;

(D) Special Investigation Department (SID) =

#101p55P)cb GPDLD LoPMILD GDHPeNW SETSTEHIIL] RBHFILIL| JeoLoLees
(CCTNS) GlawevLiRSsILh (LpeeRTWILD 618 ?

(A) ool @dpL Leemiiey sieop (B) safllilsiney @ppL eemiia) $emn
(C) wrBlev GDHY peUERT SALILISLD (D) @piiy yevnendiay senm
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123.

124,

1250

126.
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Which of the following is correct ?

Statement — I : Coastal Security Helpline number is 1093.

Statement —II : Coastal Security Helpline number is 1930.

(A) Statement I is correct (B) Statement II is correct
(C) Both I and II are correct (D) None of the above

618 Fflwns o creng ? ' ESE
F@pmi—1: s_Cevmy ungisaliny 2 saf srevs 1093. ek
Fapmi—11: s1_Cevny umgysmiiy 2 gad eretr 1930

(A) &py 1 &M (B) gampy 11 &M

(©) &ppy | wpmibd 11 &M (D) eigiayb #fl @evency

The amount of Ex gratia grant payable to the next kin of the Police Personnel who are killed
under heroic or tragic circumstances in the course of duty is

(A) Rs.2,00,000  (B) Rs.3,00,000  (C) Rs.4,00,000 (D) Rs. 5,00,000
venfliled Cungy aIuBos CleFwe yiipg Logentioe s sreuefler &@LUSHD S
QUPEISLILIGID S(Henenid Cl&Tens eTaiaeaTey '
(A) 5.2,00,000  (B) e5.3,00,000  (C) . 4,00,000 (D) ep. 5,00,000

When Police Personnel has previous good record, how long a punishment may be deferred ?
(A) From three to six months (B) From two to three months

(C) From four to five months (D) From three to nine months

(pesTeugeD BHIDIS @)BEGLD HTOID YIUVBED CTAIIGTS) ST QUMY
STL_enaTentt! Ferall aneusseurh 2

(A) apeiimy wps6d m wigniiser ey (B) @ues(p (wpsed LGS LD BISGET GUGH (T
(C) Brews wse @ig wisnisar eueg (D) epeimy (LPBGL GRGITLIZ] LDITSBISEGT GUEHT

Who is the corhpetenl authority to pass detention order under Goondas Act in cities ?

(A) The Commissioner of Police (B) Additional Commissioner of Police
(C) Joint Commissioner of Police (D) Deputy Commissioner of Police _
LOMBSIEISE) GeTL T $HILIL #1 1 SB6T BLp SjewL_LILimenay QULPBIGLIGUIT Wit 9
(A) smeu6h gy emewruwtit (B) @z sraich o ememmwi

. . - i . EEE
(©) Qeven sraieh o aewrwii (D) srewewr snaicv yenewtuit Eiﬁ

As per PSO 497, Tamil Nadu Forensic Science Laboratory is having several division except
(A) Serology (B) Narco Analysis (C) Biology (D) Toxicology

&bl erawr 497 @Q)eirng FBEIH SLw yeSwed QUIISLONGTS] 6THS (b
dflenausd sally wppee L 19asamens: O ras (h6irengy ;
(A) GBS uIwed (B) 2 awrenin geirenio se_pPayib eussH)
(C) 2_ulfwed (D) pesa@uich
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As per PSO 40, the list of qualified candidates suitable for promotion to the post of

Sub-Inspectors shall be approved by

(a) Superintendent of Police (b) Deputy Inspector General of Police
(c) Commissioner of Police (d) Inspector General of Police

(A) (a) and (d) are correct (B) All are correct oA
(C) (b) and (c¢) are correct (D) (b) only correct Eﬁ

SOPHIH sTeucd BHleawew yement etews 40 @1 Ly, Hreid 2 Haf %mmﬁmﬁ Ligadl
2 wielHE s@&Bwnes priiseer L g wemew yBBsSMLILIaT

() smauch sevorsmessflliLimenTt (b) sraUGGID HIHERT SHEVGUIT
(¢) smeucy gy emewTwit (d) smeuchgImm FEvevaurt

(A) (a) wpmyed (d) & (B) omeniggib Fiil

(C) (b) ommib (c) & ~ (D) (b) wi@ub &M

As per PSO 749, who are classified as rowdies and rowdy sheets may be opened for

(A) Persons who habitually commit offences

(B) Persons bound over under Section 106 and 107 Cr.P.C.

(C) Persons who are illicit distillers and known purveyors of liquor

(D) All are correct

&b 749, Curs@ e1ar wreny wesILIBSS), Qeuiserssts CLrsGT

uBeoys snarsenearsd 0sm ks Caiswr(itd ?

(A) GopEsmar aupdsions QFiSeTn LT

(B) @opp alergenest @Gpp Fii_ib Lfleyser 106 opmib 107 @Gﬂ 81p Newewruit’s
LD p e iser

(C) seirend smgmuith HrwEsHLeui, smuh alpGuimi ereyy mlwiii e

(D) yemerdgitd hlwnerenay

Which of the following is correct ?

(i) AsperPSO 715, aregister of process in Form No. 100 shall be maintained in each Police
Station. '

(ii) At the end of the month, an abstract in Form No. 101 shall be entered in the process
register.

(A) (i) is correct (i1) is wrong (B) (i) and (ii) are correct @#E'

(C) (i) is wrong (ii) is correct (D) (i) and (ii) are wrong Eﬁ

Bipdsehn_cupmier 618 & 2 '

() sm.B). yemewr 715 @eirig @eublar@ Smeue) AavevwsSab B8 6Ty
BAeopCauppsé s L ewars LuBCeu® eerdlever Ligaib eewr 100 @)ev LgmoMss
Geuesr(HLb.

(i) rs @QmBuied Ligeuh e 101 @b s@pdsd geiflaner @UiGCar g6
e1pSH% Clsnerer Gauem(hiLb.

(A) (1) &M (i1) euny _ (B) (i) ommyip (ii) slwmesansy

(©) () sougy (ii) & (D) (i) opmiid (it) souprenena



s

130.

131.

132.

133.

-30-

As per PSO 726, who has the custody of Medical History Sheets of Head Constables an
Constables ? '

(A) Police Station Writer (B) Station House Officer
(C) Deputy Superintendent of Police (D) Superintendent of Police
&i1.Jbl. 2. 726 ()67 L11g. FEHUENLOS FTEUG LoHMILD &TeLGTH6 NG LD(555) 6 UTGUMHM]S

@D Is6r 61bg IBsmAudeT Qurpiied emeadssL@Ld 9 EpE

(A) smeued flenevws 61Lpdsit (B) smaued glemevwr o@smi E]&:éﬁ '
(©) giwewsr snauey sreawsteniiumeri (D) srauchgienn sewasmeniiiimenni
Punishment for committing dacoity with murder is provided under Section of IPC.
(A) 395 (B) 396 (©) 397 (D) 398

@).5.5. alletr L9Mey & sl () Clsmeireneny_eir Glsneney ClFils GDDSBDH a0
STl LPp Fnpliul (Herengy. '

(A) 395 - (B) 396 (C) 397 (D) 398

The word “Document” is defined in the

(A) Sec. 30IPC (B) Sec. 24 1PC (C) Sec.29IPC (D) Sec.251IPC

“Yauenrid” 616w LigdS et Lipm) GV QUGN TWINISELILIL (RGTETS).
- (A) Iiey 30 @).5.5. (B) 97aj 24 @).5.5.

(©€) IMe;29 @).5.4. (D) 9fey 25 @).5.4.

Fracture of bone is under Indian Penal Code.

(A) Hurt - (B) Grievous hurt

(C) Slight harm (D) Affray

QUEBW seTL_wers F1U1L_ B cTayibenLs (LSS TeTLIG)

(A) smuith (B) Can@msmuLd

(©) i (D) sésray

134,

135.

Which of the following Section provide punishment for false evidence ?
(A) Sec. 191 IPC  (B) Sec. 180 IPC (C) Sec. 193 IPC (D) Sec. 8 IPC
Sipsavn_ epg i1 11 ey, Qumid #r NugPpsnet seL_aerts LHD FnSpg ?

(A) 9fay 191 B).5.4. (B) 9day 180 @).s.4.

(C) 97y 193 @).5.5. (D) 197ay 8 @).5..

Section 108 of Indian Penal Code deals with B
(A) Movable property (B) Counterfeiting coin Eéﬁ
(C) Abettor _ (D) Kidnapping

QBBIw gei_ameard s L g&ar 19ay 108 upBE FamiBng).

(A) syewaub Clongs (B) aeiten prewruith suwinfsse

(C) sressr®Licu (D) Serenenifigdsed
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136. Which of the following officers should attend Sessions Court during the trial of a case as per PSO 226 7

137.

138.

139.

140.

141.

(A) Investigating Officer (10) (B) Station Writer
(C) Station House Officer (D) Inspector of Police

&ir.jbl. gy, 226 ufleir L1g. SyLoiay EBwemrisele e QLSS BHDEIDSFeV allemyen et
Cednuiu@d Gungy wri 8015 Geusssi(hib

(A) yevesr aflergeness oG s ml (B) plewavws e11pSSHT Q%%
(C) smeued flewevis a6Vt (D) smeucvgienm gy tieumern =
Which PSO speaks about men who turn out for dealing with crowds bandobust duty, patrol beats

in disturbed areas should always be armed with lathis when lathis is required for self defence ?
(A) PSO 265 (B) PSO 240 (C) PSO 250 (D) PSO 245

616G HM. Bl Fnl L MIGeaTs S (HLILIRSHISE, LUTHISTLIL] SO, FDM] HTaIGD
LB GES @)L risafleh (s FralcEar Y S wepnsleT Gungl SHSTLILISSTS
s19 Gzemeutiuin’ BIb Fuwilh aaisHBoH5e0 Carcr(BID eTein T ISDSI

(A) sm./Bl.o9y,. 265 (B) amfpl.9.240 (C) sm.fpl.,. 250 (D) sr./).,. 245

For all grave crime cases, a copy of the first information report is sent as ‘Express Report’ as per
which PSO ?

(A) PSO 565 (B) PSO 560 (C) PSO 555 (D) PSO 550

S DNS5G HENLG ST OUEN L WSTHE SHSLIUGID QIS SHSE@F%E LSV
S PGS BEOS@T ‘alangey IYBESFTIS 61HS ST./bl. 2 uder L
QY LILILILI QS DS ?

(A) sm.fBl.y. 565 (B) sm.fpl.o. 560 (C) sm.bl.gy. 555 (D) &m.fbl.2y. 550

As per PSO 117, which of the following officer having custody of personal file of Sub-Inspector

of Police ?

(A) Deputy Superintendent of Police (B) Superintendent of Police

(C) Deputy Inspector General of Police (D) Inspector General of Police

&reueh Hlevevw yenesst ereter 117 @6t Lilg SLpSTgILD 61b% 2B Hmiludles ung;;&nur_‘ﬁw
&meuch 2 gall guieunearier @QuaFiws CEniiLjser eneusbsii(Gb

(A) snaue gevewr sewsrenfiviumerni  (B) smeuch sevsrssrewdlLiLimennt

(C) smeucd grovwd gyamenrd seneveui (D) smeued grenpd senevausi

Which PSO speaks about village headmen will be held responsible for reporting cases of
unlicensed possession of arms within their jurisdiction ?

(A) PSO 550 (B) PSO 549 (C) PSO 545 (D) PSO 500

6165 &6y, ullew Ly &g Seevenio DIV QUGVTHET SEISET HGSTT mgwq&@m
o Mwtb oefdstiOupns Juwsniser upPu GPD apsGsamen GsMailiiLgnEL
OummyliLyeiTeneui&er <y eumiser ?

(A) sm./b.,. 550 (B) sm.fpl.9.549 (C) sm.fl.oy. 545 (D) sm.hl.<y. 500

How many Railway Police Districts are there under Tamil Nadu Police Department ?
(A) 2 (B) 3 (C) 4 D) 5 g
sLOps snauechgieanpuilesr &ip Quibigid @ruievGeu @)BLIL] LTS HTaIGH B
oL’ L_migenedr cTessTenhidens ?

A2 (B) 3 (©) 4 (D) 5
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142. Which of the following is correctly matched ?

Battalion Place

a) TSPVIIBN -  New Delhi g'%%

b) TSPVBN  —  Salem el

¢) TSPIBN —  Coimbatore |

d) TSPIII BN - Vellore
(A) ais correctly matched (B) bis correctly matched
(C) cis correctly matched (D) d is correctly matched
a1 Fflwns ClummES ujerers ?

SWLIL] HNGUGOLIGHL @1b

a) &.8.am VIII gidb gewfl - 1510606l

b) 5.8.81. V b yewf - Gxevrd

) 5.9.am 1 gyib oyewdl ~  Gsmuwibryga

d) 5.8.5m 111 gy1d ojewfl - Gougyriv
(A) a sflwns CuImsS ueTrars) (B) b #flwna QuingspSujerengy
(C) ¢ sflwrs Quingss@uyereng) (D) d efwns CuingspBujscirersy

143. What is the time limit to apply for appointment on compassionate grounds ?

(A) Within 3 years _ ' (B) Within 2 months
(C) Within 90 days (D) Within 180 days
s@event g LiLeuled Lewf Buoeh Glum aferenT IS GLD TV AUSTELD eTasTaT 9
(A) epsiny e Bsens @6 (B) Quew® onsrisendgar
(C) Clsnevwamyrmy B &@ps@er (D) mipOmeitigy B &epéEer

144. For Government employee under new Contributory Pension Scheme (CPS),
percentage of Pay and Dearness Allowance (DA) is deducted as monthly contribution.

(A) 8% (B) 9% (C) 10% (D) 12%

yBlw ukisefiLy @uieyBus B L $Bew Gip @) _1bCILImyLD 2% sem Huwiisefsr sa@uiib
Lpnith sailleeriLiguiey F50I5LD 1ONS FHSTS Clnanswnstt 199 $sib
QetiuIL @b,

(A) 8% (B) 9% (C) 10% D) 12%

145. Which of the following services are given to public by Tamil Nadu Police Department at
free of cost through its websites ?
(a) FIR status

(b) Arrested person’s details ' EJ;SEI‘
(A) Only (a) (B) Only (b) o5
(C) Both (a) and (b) (D) Neither (a) nor (b)

Gpasarupplier s0ps sTaibg@pBl6T apwb WESEEESE @ easFinns
aupmsLLIGIL CFaneuser wramal ?
(@) wpsed a6 IyPlsesuiar Hlaney
(b) easg Gediwiiu 1_eurselet afeunnkisen
(A) (a) o Gub (B) (b) " ®b
(D) (a) Lopyth (b) @evama
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146. Find out the wrong match :
(i) Arrest by Police Officer : Section 41 Cr.P.C.

(i1) Arrest by private person : Sec. 43 Cr.P.C. g%%
(iii) Arrest by Magistrate : Sec. 42 Cr.P.C. o
(A) (iii) only (B) (ii) only (C) (i) only (D) None of the above

SQUDITCS Q) eRTENILI %6V D%,

(i) smeus y@sTiwnew ensg CopGlsmereriiL@se : 41@.al.5.s.
(i) safl pugred 35 CdClsmareriiL@eaug : 43 @.al.5.5.
(i) m@eugTe sk CplsrareniiL@eug) : 42 &.a9.5.4.

(A) (iil) ol (b (B) (ii) o (pub
(C) (i) L ®b (D) Gupsess erenarujiblevensy

147. “Notice of appearance before Police Officer” is issued under the Sec. of Cr.P.C.
(A) 41D (B) 41C ' (C)41B (D) 41 A
sraue 2BsmuleT (et et 26 yBladlliy Osr@Sse &.a9.5.4. (Nifay &1
SLp gjewLoujLb.
(A) 41D (B) 41C (C)41B (D) 41 A

148. Under which Section of Cr.P.C., no person shall be detained in custody of Police Officer
more than 24 hours in the absence of a special order of a Magistrate ?

(A) 56 (B) 57 - (C) 58 (D) 59

@;D,r_r)aﬂmw aflgngenent (pepd FLgFen erbg LMadler Ly pHeufler Splis
SL_L_cor @evavns L s3B6 24 wewnfl Cris8pn@ Cuéd @ss QeiuliLil L pumT
&m6u6dled USH (5SS Inl TG

(A) 56 (B) 57 (C) 58 (D) 59

149. Under which Section of Cr.P.C., District Magistrate (or) Judicial Maglstrate can issue search
warrant to any Person, if he has reason to believe that an individual is wrongly confined ?
(A) 94 (B) 93 _ (C) 97 (D) 96
Q@ B FLL_ (LPIGRTTS 0 L_SSHIHESHLI ur_@ 2_eirermr erest wmes L HHeuGyr

(Svavg) EBSSImD BB CHT & @Gumw 616uG) UGG Gongemen gyemewreani,
GDOPANUG BL_(LLeODE Jt_x_ggm 61hs LIMadNeT &Lp euLpEISEITLD

(A) 94 B) 93 ©) 97 (D) 96
150. Find out the correct match : ' EIaE
(i) Examination of the accused : Sec. 313 Cr.P.C. Ei@

(i) Examination of the accused by Medical Practitioner : Sec. 164 Cr.P.C.
(iii) Examination of the victim of rape : Sec. 53 Cr.P.C.
(A) (ii) only (B) (i) only (C) (iii) only (D) (ii) and (iii) only
Fflwnes Qunmdsdens SHerL_Pls :
(i) @Owb WSS L ey aflgnhidse : 19fay 313 &.ad.5.5.
(i) @OpL FWESLILIL L eueny Wmsgiat Crr@sge : oy 164 G.a0.5.4.
(ili) euehyewrioy @PLSSMD LTHEsLILL L puemy CanBssa : 19fay 53 @.a.5.4.
(A) (ii) o (@b (B) (i) tor”@®1b
- (C) (111) Lm_@m (D) (ii) opmyibd (iit) Lot (Hb

i i o e A T 7 AT P A ) SR 0 R PRI 4 a1 o S S 17 8 0 i 18T 5 AL T £ 1, 10 NP £1HA" o P A L, ot 0,



151. Match the following :

Offence Penal Section
a) Unnatural offence 1) Sec.3101IPC
b) Punishment for kidnapping i1) Sec. 377 IPC Eﬁ%‘
¢) Thug : iii) Sec.319IPC =&k
d) Hurt _ iv) Sec. 363 1PC
(A) a-ii, b-iv, c-i, d-iii (B) a-i, b-ii, c-iii, d-iv
(C) a-iii, b-iv, c-ii, d-i (D) a-iv, b-iii, c-ii, d-i
Qs Gis. '
SDDLD Sewr_ewesits Lflay
a) @D LOADITET &DDLD i) Kfley 310 @).s5.4.
b) &L_SSISaIGHTET SetTL_ e i) 9May 377 @).5.4.
C) GeTLIT i1) dAfley 319 ().5.4.
d) smub iv) 19fey 363 @).5.5.
(A) a-ii, b-iv, c-i, d-iii (B) a-i, b-ii, c-iii, d-iv
(C) a-iii, b-iv, c-ii, d-i (D) a-iv, b-iii, c-ii, d-i
152. Match the following :
Offence ' . Penal Section
a) Murder by life convict 1) 304 (A) IPC
b) Culpable homicide not amounting to murder ii) 305 IPC
c) Causing death by negligence iii) 303 IPC
d) Abetment of suicide of child or insane person iv) 304 IPC
(A) a-i, b-ii, c-iii, d-iv (B) a-iii, b-iv, c-i, d-ii
(C) a-ii, b-iii, c-iv, d-i (D) a-iv, b-i, c-ii, d-iii
QB Gi%5.
&DDOLD SewTL_enaw FLL_ L1 Dfley

a) %u;sir Geopd sBlwred QFinuiuc L. i) 304 (&) @).5.4.
FMTVS HOOLD
b) Qarenevs@ppLonsns Lresih ii) 305 @).5.4.
aflenaraild @b GDOLD _
¢) seueLbleitenLowired ogewith aleneraildsey iii) 303 (3).s.4.

d) GpiasuieT 9jebevg) LoaThanew v) 304 g).5.4.
LnBésiu 1_eaufler spolsTamvs s
S1e5T ()% 60 :
(A) a-, b—ii: c-iii, d-iv (B) a-iii, b-iv, ¢-i, d-ii ggjli_l
(C) a-ii, bii, c-iv, d-i | (D) a-iv, b-i, c-ii, d-iii S
153. Which Section of IPC deals with attempt to commit robbery ?
(A) 392 (B) 398 (C) 394 (D) 393
Clamarenanuig s wpwund QFiised LHD @).5.4. aler e1pstt 1906y spPDSH 2
(A) 392 (B) 398 , (C) 394 (D) 393
154. Punishment for cheating is given under Section of Indian Penal Code.
(A) 414 (B) 415 (C) 416 (D) 417

QbW FTL_weTF FLU L SG60 IOIPDIISDHETET SeTL_cneT @pldg LiMay
60 QULPEISLILIL (B 6ITeNT ).

(A) 414 (B) 415 - (C) 416 D) 417



155.

156.

157.

-35-

Which Section of Indian Penal Code defines wrongful confinement ?

(A) 340 (B) 240 (C) 339 (D) None of the above
&1 aNCIsLons yewL_gg eeusse LDD QBB STl e 5!_L.§@GU GIBS L
L9Maf6h euemIwmiSELILIL (HeTarg)

(A) 340 (B) 240

(C) 339 (D) GuBov @Ml . s1gaj0606

A person can be summoned as a witness under Section 160 of Cr.P.C. by _

(A) Judicial Magistrate (B) Metropolitan Magistrate %ﬁ

(C) An Investigating Officer (D) All the above

@oawed allFrgenent penL_(Lpenpd Ft_LiLig (L9fey) 160 &r $1p s Swns gupeueng
PSS BSTILPEOL_ WL BLIT

(A) BBSgIwD BOHGUIT (B) Qu@psy pEourt

(C) yovedr alflemgenewr @il (D) Copsesm._. semetauLd

As per the Section 37 of the Cr.P.C., every person is bound to assist

(i) a Magistrate
(i) Police Officer
(iii) other than Police Officer, executing warrant.

~(A) (i) only (B) (ii) only
(C) (1) and (ii) only (D) (ii) and (iii) only
GDpilue allsnyamen wpaps siitb Niley 37 ¢t Sip 6158 0leum(m BLI(HLD %S
2 gafl GlFuinu SL_enLoLIL L_auiser.
(i) BONGSS

158.

(il) sreuwGETilsE
(ili) srauewBsrf vewns, Ly wramemtenws ClFWDLIBHSHILI 5SS

(A) (i) @b (B) (ii) or”_ @b
(C) (i) topmb (i1) or” b (D) (i) opguib (iii) or” b
In the Code of Criminal Procedure ; .

(i) Complaint — Section 2(d) Cr.P.C.
(i1) F.IR.-Section 154 Cr.P.C.
(iii) Examination of complaint — Section 200 Cr.P.C.
(iv) Investigation — Section 2(h) Cr.P.C.
Find out the wrong match.
(A) (i) and (iv) only (B) (iii) and (ii) only .
(C) None of the above (D) All the above
GDDANIG Bl (LpepIFFL L LILIg
() ysmi—190e) 2(d) &.ad.5.4.
(11) s ssavplsams — 1fa) 154 @.all.5. 7. EIE
(ill) ysrflenes aflenfiiug — 9fea 200 @.a.5.s. %ﬁ
(iv) yevewr aflemgenesst — L9May 2(h) &.ad.5.4.
SUDTET Q) OERTEIIS HERTL_ D15,
(A) (1) oppid (1v) ot @b (B) (iii) topaytb (1) o (G)b

(C) Cupse_ e1gablébansv (D) GopasesiL. emesssitb |



159.

160.

161.

162.

163.

(A) 9fay 35 (B) L9fey 36 (C) ey 37 (D) Sifey 38

-36- A

As per the Section 2 of Cr.P.C., “Police report” means

(A) Statement recorded by a Police Officer

(B) Report send by Police Officer to Judicial Magistrate regarding arrest of accused

(C) Report of Police Officer on completion of investigation

(D) None of the above o)

&-a9.5.4. fey 2 6ir L1y “sruadéans” eTar LB alg) Bieh

(A) sreuewSsnh) uGey CFis andEeapeid

(B) ;3,@5@@,@ BOBSES, GDpd Fr L LGUppauemT msg CFiiss GOS8 obldms
SILIL|S 6V

(©) yeveir aflengenent (pigaleh sreue@amh oyenitiyh s

(D) Guopsesmn_ erenasujb @edeane

Procedures relating to trial of accused person being lunatic is covered in Sec.  of Cr.P.C.
(A) 328 (B) 228 : (C) 428 (D) 128

- @ppeunall YggBleravilengns @ i@ UL sEB euiser QFm_iLneT apssE

aflgmrenewt LpPlu peoL_(pap, &.a.5.5. fafleh FmpriL’ Gerens).
(A) 328 (B) 228 (C) 428 (D) 128

The circumstances under which the secondary evidence is admissible have been enumerated
in of [EA.

(A) Section 63 (B) Section64  (C) Section65 (D) Section 66

Qsws sm’ Qs 51 B eips LIMals 1E0s58 SHSTIKSNG Iyeewrlser
FLOUFSLIIL L @essn_ahsy Fm Suwibd CEn@EsLILL_eomb etat @GpInS i’ Bererg ?
(A) Iflay 63 B) L9fey 64 (C) 9Aey65 (D) 19y 66

According to which Act, Section 113-B of IEA was inserted ?
(A) The Dowry Prohibition (Amendment) Act, 1986
(B) The Child Marriage Act, 2006
(C) The Domestic Violence Act, 2005
(D) None of the above :
G FLL SBler Ly @QUESwE sm Pwé s L_g@e 9Mey 113-B Cardstiu g o
(A) augs Fewewr gewi_ &1 1 1b, 1986 (&BssLb)
B) syimss Poewis e g1 tb, 2006
(C) Ouiewsraer @@L aueTpeDLT LgSILF F1 b, 2005 i
(D) Cupser . agib @evemev %ﬁfﬁ
of IEA says about relevancy of statements in maps, charts and plans.
(A) Section 35 (B) Section 36 (C) Section 37 (D) Section 38
@BESw Fm’ S 1 1_tb, Yyl i _misefleyib, alerss L 1 cuenewTL]
UL Bsalgid ety UL Biselgub o drer 2 egseflcr Ger_iyei_ein L)
&GS ?




164.

165.

166.

167.

(A) 331 (B) 332 (C) 333 (D) 334

-37- A

Choose the correct pair.
a) Section 151 of IEA — Indecent and scandalous questions.
b) Section 152 of IEA — Questions intended to insult or annoy.
¢) Section 155 of IEA — Impeaching credit of witness.

(A) aand b (B) band c (C) cand a (D) All the above

gilwres @)enentulenest Cxiip0lE(BEHa LD,

[=]35[m]
2t

a) ey 151 @).#m.&. — Caeueiomet opmitd LILHGIHMILD Gseradlser.
b) Ifey 152 @).an.&. — BlEHsss sGOCwT Qsnpsre) Qen®ss s@SGun
Cal su@m Cserallser.
c) ey 155 @).om.&. — sn_Gullesr Crienwamwsd STEESHS6.
(A) a wpmib b (B) b opmyib ¢ (C) c wpmiba (D) Cpsan_ oeneidgLb

In criminal proceedings against any person, the husband or wife of such person respectively
shall be a competent witness. Such witness person shall be a

(A) Legally wedded husband and wife (B) Person in live-in relationship

(C) Person not previously convicted (D) Divorce person

RHCUIT LEFIGTOT (GDD QPG BL_a1g Sensafleh @omrrp(}’i:, <D[CU(HEDL_ILI SHEBIGUT HGVGVS/
wenesall R $&S UMips FTU_Swns @QBLILTT. QUnng Ul L. FTCSwneteur,
(A) wpenpLiuLy Bioewnioner sewrale weaarallwins @);sse Coua(BLd

(B) S@oewiid Gleinumoey Ceifgy eumuptb HLIi

(C) emsarGoy gew_emerolLHD HLITE @Q)(BSS Fol M5

(D) afeunspsg Qupp BLIT

Punishment for commiting dishonest misappropriation of property possessed by deceased
person at the time of his death is dealt in ' i

(A) Sec. 402IPC  (B) Sec. 403 IPC  (C) Sec. 404 IPC (D) Sec. 414 IPC
@i Cunareuf_tb aigg @priler Cuing Qwis Gunmeer GrieiowHn
upepile) swr e ClFs GPPSBHG SLamer e1bs s 1 Lifadled
SOIN_Li1” BeTerg)

(A) 197y 402 3).5.4. (B) L9fey 403 @).5.4. gl&;lil‘

(€) ey 404 @).5.4. D) 9flay 414 @).5.0.  EEH

Voluntarily causing hurt to deter public servant from his duty is punishable under which
Section of IPC ?

(A) 331 (B) 332 (C) 333 (D) 334

Qung sorflueny youps sLemwuledGis &HSs SaraflFmswns SmTwib
aflewarallgsaydsner se_emer (3).5.4.-aller eibsls Lifladled smpliul (Hererg ?
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e

168

169.

170.

. Misconduct in public by a drunken person will be punished under Section

(A) 5101PC (B) 75 IPC (C) 324 IPC (D) 260 IPC

G Cumamguisd clung @)L_gHe eupmGeanons B kg Csrdresd upat
ifaller 81p seg.dsliLiB e

@A) 510 @.5.5. . (B)75 @55  (C) 324 @55 (D) 260 §.5.5. %%%
“Criminal breach of trust by a public servant” is dealt under Section of Indian
Penal Code.

(A) 406 (B) 407 (C) 408 (D) 409

QBEW seT_mend F11L GG “Cung semfwit @reuned QL@ HLbLISams
Guneg s Gpmb” LPB gampiid 199ey
(A) 406 (B) 407 (C) 408 (D) 409

Pick out the correct statement.
a. Sec. 494 IPC is penal section for marrying again during lifetime of husband and wife.
b. Sec. 500 IPC is penal section for Defamation.

¢. Sec. 507 IPC is penal section for criminal intimidation by anonymous
communication.

d. Sec. 510 IPC is penal section for misconduct in public by drunken person.
(A) b, ¢, d are correct (B) a and b are correct
(C) All are correct (D) All are wrong mpm
sflwner mperp Csin0lsBESa 1b. _ e

a. @.8.5 sl 196494 sewreusiy) wamenal o ullmL_cir @sEb CunGs
s BILD BpLoewid ClFiigney e _ewar Glumyb 9May.
b. @.8.. s ey 500 eunegy syeugimsstar e _emer LD CUABDDS).
c. @.8.5. gl L19Mey 507 aureng) Qom e $19.85886rT epeoth AT (HeusmHmest
SEWIL_emes LIDMI FL 1 th.
d. @.s.5 s'r niifley510amengy Gy Guirenguied QLTg QLGB @uprBanons
BL g Osnaraugnsiet s enar Upys TmniBns).
(A) b, ¢, d slwmesgy (B) a wpmyb b o’ BGro FMlwinewg)
(O) ymamggyb Fhwinesg (D) yemenssib seumnens)



SUB-INSPECTOR OF POLICE-2022

DEPARTMENT

WRITTEN EXAMINATION - FINAL ANSWER KEY

QUESTION BOOKLET SERIES - A

Q. No. | ANSWER Q. No. | ANSWER | Q. No. | ANSWER | Q. No. | ANSWER
1 D 26 C 51 B 76 A
2 D 27 C 52 |A/B/C/D| 77 B
3 B 28 D 53 A 78 C
4 D 29 C 54 C 79 A
5 A 30 A 55 B 80 C
6 D 31 A 56 D 81 C
7 C 32 C 57 B 82 D
8 B 33 C 58 C 83 B
9 A 34 B 59 A 84 D
10 C 35 D 60 A 85 C
11 B 36 C 61 D 86 D
12 C 37 B 62 D 87 A
13 B 38 C 63 A 88 C
14 D 39 D 64 B 89 D
15 A 40 C 65 D 90 C
16 A 41 A 66 B 91 B
17 B 42 B 67 C 92 A
18 C 43 B 68 B 93 B
19 A 44 B 69 B 94 D
20 B 45 A 70 C 95 D
21 C 46 C 71 A 96 D
22 C 47 D 72 B 97 A
23 B 48 C 73 B 98 B
24 A 49 B 74 C 99 A
25 A 50 C 75 A 100 D




QUESTION BOOKLET SERIES - A

Q.No. | ANSWER | Q.No. | ANSWER | Q.No. | ANSWER
101 B 126 B 151 A
102 C 127 C 152 B
103 B 128 D 153 D
104 |A/B/C/D| 129 B 154 D
105 B 130 B 155 A
106 B 131 B 156 C
107 D 132 C 157 C
108 B 133 B 158 |A/B/C/D
109 C 134 C 159 C
110 C 135 C 160 A
111 C 136 A 161 C
112 D 137 D 162 A
113 C 138 C 163 B
114 A 139 B 164 D
115 A 140 B 165 A
116 A 141 A 166 C
117 B 142 A 167 B
118 C 143 A 168 A
119 B 144 C 169 D
120 D 145 C 170 C
121 C 146 A
122 A 147 D
123 |A/B/C/D| 148 B
124 A 149 C
125 A 150 B
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